

First Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2022 Four Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (17 x 2,812/unit)	Р	47,804.00
Miscellaneous fees		14,367.00
Other fees		1,257.00
Total	Ρ	63,428.00
INSTALLMENT BASIS		
a. Down payment	Ρ	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		27,214.00
c. 2nd Installment - 75 days after the 1st day of classes	TP m	27,214.00
Total	Р	63,428.00
CASH BASIS (At 5% discount)	Р	60,256.60

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



First Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2022 Four Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (17 x 2,812/unit)	Р	47,804.00
Miscellaneous fees		14,367.00
Other fees		18,729.00
Total	Р	80,900.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		35,950.00
c. 2nd Installment - 75 days after the 1st day of classes	C10 12-9	35,950.00
Total	P	80,900.00
	Р	76,855.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



First Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2022 Five Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (13 x 2,812/unit)	Р	36,556.00
Miscellaneous fees		14,367.00
Other fees		1,257.00
Total	Р	52,180.00
INSTALLMENT BASIS		
a. Down payment	Ρ	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		21,590.00
c. 2nd Installment - 75 days after the 1st day of classes	TPL TW	21,590.00
Total	Р	52,180.00
CASH BASIS (At 5% discount)	Р	49,571.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



First Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2022 Five Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (13 x 2,812/unit)	Р	36,556.00
Miscellaneous fees		14,367.00
Other fees		18,729.00
Total	Р	69,652.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		30,326.00
c. 2nd Installment - 75 days after the 1st day of classes	cite 172	30,326.00
Total	Р_	69,652.00
CASH BASIS (At 5% discount)	Р	66,169.40

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

Г

gram)	
Р	62,790.00
	13,953.00
	253.00
Р	76,996.00
Р	9,000.00
Р	9,000.00
	33,998.00
R m	33,998.00
Р	76,996.00
Р	73,146.20
	P

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2019 Four Year Pro	ogram)	
ASSESSMENT		
Basic Tuition fee (23 x 2,730/unit)	Р	62,790.00
Miscellaneous fees		13,953.00
Other fees		10,646.00
Total	Р_	87,389.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		39,194.50
c. 2nd Installment - 75 days after the 1st day of classes	cia 119	39,194.50
Total	Р_	87,389.00
	Р	83,019.55

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year - Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (16 x 2,730/unit)	Р	43,680.00
Miscellaneous fees		13,953.00
ID Maintenance fee		253.00
Total	Р	57,886.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		24,443.00
c. 2nd Installment - 75 days after the 1st day of classes	CIG 12-5	24,443.00
Total	P	57,886.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Prog	ram)	
ASSESSMENT	_	40.000.00
Basic Tuition fee (16 x 2,730/unit)	Р	43,680.00
Miscellaneous fees		13,953.00
Other fees		10,646.00
Total	Ρ	68,279.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		29,639.50
c. 2nd Installment - 75 days after the 1st day of classes	D m	29,639.50
Total	Р	68,279.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2019 Four Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (22 x 2,730/unit)	Р	62,790.00
Miscellaneous fees		13,953.00
ID Maintenance fee		253.00
Total	Р	76,996.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		33,998.00
c. 2nd Installment - 75 days after the 1st day of classes	C16 113	33,998.00
Total	P	76,996.00
lotal		

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2019 Four Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (22 x 2,730/unit)	Р	62,790.00
Miscellaneous fees		13,953.00
Other fees		10,646.00
Total	Ρ	87,389.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		39,194.50
c. 2nd Installment - 75 days after the 1st day of classes	S10 []],	39,194.50
Total	P	87,389.00
CASH BASIS (At 5% discount)	Р	83,019.55

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Prog	(ram)	
ASSESSMENT		
Basic Tuition fee (17 x 2,730/unit)	Р	43,680.00
Miscellaneous fees		13,953.00
ID Maintenance fee		253.00
Total	Р	57,886.00
INSTALLMENT BASIS		
INSTALLMENT BASIS a. Down payment	Р	9,000.00
//// 85	Ρ	
a. Down payment	P	9,000.00 24,443.00 24,443.00
a. Down payment b. 1st Installment - 45 days after the 1st day of classes	P P	24,443.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

680.00
953.00
646.00
,279.00
,000.00
639.50
639.50
279.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2019 Four Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (24 x 2,625/unit)	Р	63,000.00
Miscellaneous fees		13,564.00
ID Maintenance fee		244.00
Total	Р	76,808.00
INSTALLMENT BASIS		
	Р	9,000.00
a. Down payment		33,904.00
		00,004.00
b. 1st Installment - 45 days after the 1st day of classes		This res
a. Down payment b. 1st Installment - 45 days after the 1st day of classes c. 2nd Installment - 75 days after the 1st day of classes Total	P	33,904.00 76,808.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2019 Four Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (24 x 2,625/unit)	Р	63,000.00
Miscellaneous fees		13,564.00
Other fees		10,285.00
Total	P	86,849.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
		38,924.50
b. 1st Installment - 45 days after the 1st day of classes		
		38,924.50
b. 1st Installment - 45 days after the 1st day of classes	 P	38,924.50 86,849.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (17 x 2,625/unit)	Р	44,625.00
Miscellaneous fees		13,564.00
ID Maintenance fee		244.00
Total	Р	58,433.00
INSTALLMENT BASIS		
INSTALLMENT BASIS a. Down payment	P	9,000.00
	P	9,000.00 24,716.50
a. Down payment	P	
a. Down payment b. 1st Installment - 45 days after the 1st day of classes	P P P	24,716.50

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Program)			
ASSESSMENT			
Basic Tuition fee (17 x 2,625/unit)	Р	44,625.00	
Miscellaneous fees		13,564.00	
Other fees		10,285.00	
Total	P	68,474.00	
INSTALLMENT BASIS			
a. Down payment	Р	9,000.00	
b. 1st Installment - 45 days after the 1st day of classes		29,737.00	
c. 2nd Installment - 75 days after the 1st day of classes		29,737.00	
Total	P	68,474.00	
CASH BASIS (At 5% discount)	Р	65,050.30	

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fifth Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Prog	gram)	
ASSESSMENT		
Basic Tuition fee (20 x 2,625/unit)	Р	52,500.00
Miscellaneous fees		13,074.00
ID Maintenance fee		244.00
Total	Р	65,818.00
INSTALLMENT BASIS	D	0.000.00
a. Down payment	Ρ	9,000.00
//// 85	P	9,000.00 28,409.00 28,409.00
a. Down payment b. 1st Installment - 45 days after the 1st day of classes	P P	28,409.00

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fifth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

JD (2020 Five Year Pro	gram)	
ASSESSMENT		
Basic Tuition fee (20 x 2,625/unit)	Р	52,500.00
Miscellaneous fees		13,074.00
Other fees		10,285.00
Total	Р	75,859.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		33,429.50
c. 2nd Installment - 75 days after the 1st day of classes	C10 14-9	33,429.50
Total	P	75,859.00
CASH BASIS (At 5% discount)	P	72,066.05

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.